EARAROBEEIERT — 2 N— IBISH —F

2019558270 (B) 2EIEER2H

mTX JZNE (PRITHE) HITIHR3E ‘ (X4&] # ‘ (@l — | & (&) 16000 &
[A&4£] 1 7% :1,000,000 @ 23 :260,000 3 ~ 3 3%&:140,000 @ .~ 4 #:100,000 @ . 5 7& :50,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R — - > PR :38. - . - EREE (FR)
gt x54-3 > 3 AL 1(3_8)3 1-1 37.7 1 (41)5) (H)E"M‘/
A=A 2214 B 3xFUNRyIN— B BhZ
. NN SR . L _ ;
2lgligl ¥z *T /AT b 73 éé% (Zﬁ)ﬁ) e S0 & (4_28) gm?ﬂ_@*)
R:T—ITH—R BHLT oA HET7— L
RPN B3 | AR 1:40.4 2-2 396 — 4 408 | BIEHSR (fR)
3|7|lg | R=—>12241 54.0 (1/2) 10y | @) $5TLYEIST-5T47
RA—T XA 214 B:hF> Y7 EvJdLy RT77—L4
_ R o LA : — — N\FEEAE (%)
N > Pl A AR 7§ (11'410/;8 &7 9.0 ° f; /E?\EE%-T-
gy hUF R—0O B:XXAH/FVa— 75> Fiis
. NN ERRTE 140. — . - 1ERERER] (OR
N BEEIN:=I 3 s 1(14/02>7 3-3 39.7 10 gs)) k)
L:T7HIHXLIRX B JYUFhOEY DNEFHS
= & 3 | BIERRME 1:40.7 6-6 39.2 — 8 475 | BERE (KR)
6 1|75~ 56.0 (NF) a) |BEET
L:A—LiFL4Aa B:yr7vava At R
5 i 4 3 | B 1:41.1 11-9 38.8| — 3 463 | =F=@ (KiR)
70N 4| b—E>OTAT 5.0 (2 1/2) gy | W0 FTIT
L:boHsA-U— B:b—trIvtrX BHRS# IXF477—L4
2= # 3 | SRR 1:41.2 9-8 39.4| — 7 428 | HRIEERI (KR)
sfl6| *T73—-77 54.0 (1/2) (<) | NEHRE ’
R—ZYL K B:TYS HFAY Ly K
R [UI]=2E 142, - . - BAEN (hR)
9ol5l5| T 3 | s I P2 Esue
L:Oo—-LiLFLf4a B:Fr7—-KFe1> b RESS
- o $5Ath 142, - . - EEE= (R
10 3 TAYZAZXT vy T 4 3 70 (12412/25) 10-10 40.5 1 (4+675) i
LN=v974 B:7z)>7 EBRT7—L
. = BRI . - . - BATR (hR)
1811|771 >790-35 R s B P et
Rowy)EdyAR B:75—La- ARXRETa—-T7—L
® I —F—@EBIERL
13—7+—
2= =
Jol=5r= 8,9,7,5,10,1,11,2,6,3,4
40—+ — 8,9,7,5,10,1,2,6,4,3,11
[ N3
BB 8 270H 714K 8-10 220M % E 7-8 290M 3EHE 8-9-10 840M
8 B 8 130H4 8-9 340M B & 8-10 580M K31 8-10-9 2,740H
10 150/ 9-10 340M B H 8-10 870M
9 200M

ABICOVWTRDTEEERROODE. TR LIV,




